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PARAM ET ERS:
v al = 1

M5
My PMOS

L = 2u
W = 30u

0
M4
My NMOS

L = 2u
W = 10u

0

.model MyPMOS PMOS vto=-0.9 kp=40u lambda=0.0125

0

V1

0

M3
My PMOS
W = 30u
L = 2u

VDD

3.3V

out
I1

20u

V

.model MyNMOS NMOS vto=0.8 kp=120u lambda=0.01

 

0

0

PARAM ET ERS:
v al = 10u

V

.model MyNMOS NMOS vto=0.8 kp=120u lambda=0.01

M4
My NMOS

L = 2u
W = 10u

VDD

3.3V

.model MyPMOS PMOS vto=-0.9 kp=40u lambda=0.0125

out

V1

0

M5
My PMOS

L = 2u
W = {v al}

 
 

1. Parametric sweep 
 

M2
MYPMOS
W = 30U
L = 2U

V5

FREQ = 1K
VAMPL = 1m
VOFF = 1.0568

AC = 1

OUT

0

V3

3

.model mynpn NPN is=6e-18 bf=100 vaf=35
0

.model MYPMOS PMOS VTO=-0.9 KP=40U LAMBDA=0.0125

I1
50u

M1
My nmos

L = 2U
W = 10U

M3
MYPMOS
W = 30U
L = 2U

.model mypnp PNP is=6e-18 bf=50 vaf=30

my pnp
Q2

.model Mynmos NMOS VTO=0.8 KP=120U LAMBDA=0.01

Vg

0Vdc

I2
20U

V1
3v

my pnp
Q3

my npn
Q1

 
2. DC sweep +transfer function 

 

R1

10k

R5

30k

V1

5

V2

FREQ = 1k
VAMPL = 100m
VOFF = 0 R2

10

C3

10uC1

10u

R8

1k

R6

20k

Q1
Q2N2222

C4

100u

R7
1.5k

0

out

0

 
3. Tran+Parameters+sensitivity+THD 


